S H A Ti]
EM1—C— (1) INSD-LE
@ [6.59 + 3.1 ] OEBEOF=HIT
ootmh o LE® | o siengrzar ()
56,59@ 0.01 78 6.59 1% 6 & 0.5 & 0.09
| L3l L
3.1 0.01 28 ;
: B = L L
L= 0.01 2 + |
| L pro Rz (2)
5 0.01 28 {# i
b o o . — DAL + 3 =
RETOEFS -
L 5 N B D R i .
= ' MEHbE Lo ! —— DA + 0 =
: 100
i i %
| =Ltr &3

HEAZLEL LD

D3.62 + 2.34=

@ 0.39 + 0.62=

@ 3.72 + 1.5=

@ 1.63 + 2.31=

® 3.4 + 0.42=

0.573 + 0.227=

@ 6.01 + 3.55=

® 0.054 +0.046=

@ 4 + 8.96 =




#M1—C— (2)

& ik

INIDT-LE

@ [ 7.46+2.1] OfEFO=HIC

#x ZHiI

IQM%%&KLK%Z]

7.461% 0.01 23

2.11% 0.01 A%

[ gamrc

7=9 & 0.01 2

B0 R

TERZLILE

Lz eicmire®x7 (1)

7.46 X% 7 E 0.4 & 0.06
2.1 1% L
79 & & &

[tz rienursay (2)

— A + 2=
0.01 73 ]
_________________________________________________________________________________________________' 1 .
[ wmosay | -
: - - l ——_OfT + 0 =
| 7. 46 INERZE TS X i 100 {
o201 febbEEL LD
i s %
| =Ltr &3
HEAZLEL LD
D 6.73 + 2.2= ® 5.92 + 3.8= ® 4.57 + 1.9=
@ 1.75 + 0.17= B 3.34+ 4.28= ® 0.92 +0.28=
@ 5.89 + 6.5= ® 9.46 + 4.6= @3 + 7.7=




